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Code No. : 12239 B  Sub. Code : JMEC 61/ 
     SMEC 61 

B.A. (CBCS) DEGREE EXAMINATION, APRIL 2021. 

Sixth Semester 

Economics — Main 

MACRO ECONOMICS — II 

(For those who joined in July 2016 onwards) 

Time : Three hours Maximum : 75 marks  

PART A — (10 × 1 = 10 marks)  
Answer ALL questions. 

Choose the correct answer. 

1. Á¸©õÚ £QºÂÀ ___________ •UQ¯©õÚ 
ÁiÁ[PÒ EÒÍÚ? 

 (A) Cμsk  (B) ‰ßÖ 

 (C) |õßS  (D) BÖ 

 There are ___________ main forms of income 
distribution. 

 (a) two   (b) three 
 (c) four   (d) six 
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2. ÷\ª¨¦&•u½k Á¸©õÚ £QºÄ ©õv›°øÚ 

•ßøÁzuÁº ¯õº? 

 (A) ›UPõº÷hõ (B) PõÀhõº 

 (C) ©õºUì  (D) ìªz 

 Who propounded saving-investment model of 

income distribution? 

 (a) Ricardo  (b) Kaldor 

 (c) Marx   (d) Smith 

3. xsh¨£mh •u½k ___________ \õº¢xÒÍx. 

 (A) ÷\ª¨¤øÚ (B) ÷Áø»Áõ´¨¤øÚ 

 (C) Á¸©õÚzvøÚ (D) EØ£zv°øÚ 

 Induced investment depends on 

 (a) Savings  (b) Employment 

 (c) Income  (d) Output 

4. ö£õx¨ £¯ß£õkPÒ «uõÚ Aμ]ß •u½kPÒ 

ö£õxÁõP ___________ •u½kPÒ GÚ 

AøÇUP¨£kQÓx. 

 (A) {Pμ   (B) ö©õzu 

 (C) ö£õx  (D) ußÛaø\ 
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 Government investments on Public utilities are 

usually called as ___________ investments. 

 (a) net   (b) gross 

 (c) public  (d) autonomous 

5. Rßêß ÷Áø»U ÷Põm£õmiØS Bv ¦ÒÎ¯õP 

C¸¨£x 

 (A) B¯zu ÷uøÁ (B) ö©õzu AÎ¨¦ 

 (C) ö£¸UQ  (D) •u½k 

 ___________ is the logical starting point of Keyne’s 

theory of employment. 

 (a) Effective demand  

 (b) Aggregate supply 

 (c) Multiplier  

 (d) Investment 

6. ö£¸UQ = 

 (A) 
S
Y

Δ
Δ

   (B) 
Y
C

Δ
Δ

 

 (C) 
MPC−1
1

 (D) 
MPS−1
1
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 Multiplier =  

 (a) 
S
Y

Δ
Δ

   (b) 
Y
C

Δ
Δ

 

 (c) 
MPC−1
1

 (d) 
MPS−1
1

 

7. J¸ •u»õÎzxÁ \‰P® ___________ ÁS¨¦PÍõP 

¤›UP¨£kQÓx. 

 (A) ‰ßÖ  (B) Cμsk 

 (C) I¢x   (D) |õßS 

 A capitalistic society is divided into ___________ 

classes. 

 (a) three   (b) two 

 (c) five   (d) four 

8. öuõßø© ©ØÖ® ©õºê¯ ÷Põm£õkPÐUS 

ö£õxÁõÚ B´Ä¨ ö£õ¸ÍõP C¸¨£x 

 (A) SøÓ¢uÁ¸® C»õ£Ãu® 

 (B) E£› ©v¨¦  

 (C) _μshÀ     

 (D) •u½kPÒ 
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 ___________ is the common theme in both classical 

and Marx theories. 

 (a) Falling rate of profit 

 (b) Surplus value  

 (c) Exploitation     

 (d) Investments 

9. £nÃUPzvøÚU Pmk¨£kzu J¸ |õmiß ø©¯ 

Á[Q¯õÚx 

 (A) Á[Q ÃuzvøÚ AvP›UP»õ®     

 (B) Á›°øÚ ÂvUP»õ® 

 (C) ö\»ÂøÚU SøÓUP»õ®    

 (D) PhøÚ ÁÇ[P»õ® 

 To control inflation, the central bank of a country 

 (a) may increase bank rate     

 (b) may impose tax 

 (c) may reduce expenditure    

 (d) may provide loan 
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10. ö£õ¸¢uõu JßøÓU Psk¤i 

 (A) öμõUP C¸¨¦ ÂQu®     

 (B) Á› ÂvzuÀ 

 (C) ö£õxa ö\»ÄPÒ    

 (D) ö£õxUPhß 

 Find odd one out 

 (a) Cash Reserve Ratio    

 (b) Taxation 

 (c) Public Expenditures    

 (d) Public Debt 

PART B — (5 × 5 = 25 marks) 

Answer ALL questions, choosing either (a) or (b) in 

about 250 words. 

11. (A) ‰»uÚ P›© Aø©¨¤À EshõS® 

©õØÓzvß ÂøÍÄPøÍ ÂÍUSP. 

  Explain the impact of changes in the organic 

composition of Capital. 

Or 
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 (B) PõÀhõ›ß Á¸©õÚ¨ £QºÄ ÷Põm£õmiß 

\õμzvøÚz u¸P. 

  Give the essence of Kaldor’s theory of income 

distribution. 

12. (A) •u½miß AÍÂøÚ {ºn°UQßÓ 

PõμoPÒ ¯õøÁ? 

  What are the factors that determine the level 

of investment? 

Or 

 (B) CÖv{ø» ‰»uÚ BUPzvÓß P¸zvØS 

GvμõÚ \õkuÀPøÍ ÂÍUSP. 

  Explain the criticisms levels against 

marginal efficiency of capital concept. 

13. (A) ÂøÍÄÒÍ ÷uøÁ — J¸ SÔ¨¦ GÊxP. 

  Write a note on effective demand. 

Or 

 (B) Rßê¯ ö£õ¸Î¯¼ß C¯À¦PøÍ ÂÍUSP. 

  Explain the characteristics of Keynesian 

Economics. 
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14. (A) ©õºUì GÆÁøP°À ìªzvØS®, 

›UPõº÷hõÂØS® Phß£mkÒÍõº? 

  In what way is Marx indebted to Smith and 
Ricardo? 

Or 

 (B) E£› ©v¨¦ — ÂÍUSP. 

  Explain — Surplus Value. 

15. (A) £nUöPõÒøP°ß P¸ÂPøÍU TÖP. 

  State the instruments of Monetary Policy. 

Or 

 (B) {vUöPõÒøP°øÚ Áøμ¯Özx ÂÍUPÄ®. 

  Define and explain Fiscal Policy. 

PART C — (5 × 8 = 40 marks)  

Answer ALL questions, choosing either (a) or (b) in 
about 600 words. 

16. (A) ›UPõº÷hõÂß Á¸©õÚ¨ £QºÄ 

÷Põm£õmiøÚ öuÎÁõP ÂÍUSP. 

  Explain clearly Ricardian theory of income 
distribution. 

Or 
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 (B) ©õºêß Á¸Áõ´ £QºÄ ÷Põm£õmiØS 

GvμõP GÊ¨£¨£k® ©Ö¨¦PøÍU TÖP. 

  Narrate the objections raised against 

Marxian theory of Income Distribution. 

17. (A) •u½miß £À÷ÁÖ ÁøPPøÍ ÂÍUSP. 

  Explain the various types of Investments. 

Or 

 (B) ‰»uÚ CÖv{ø» BUPzvÓøÚ 

{ºn°UQßÓ PõμoPøÍ ÂÁõvUP. 

  Discuss the main factors that determine 

marginal efficiency of capital. 

18. (A) £nÃUP CøhöÁÎ°øÚ ÂÍUSP. 

  Illustrate inflationary gap. 

Or 

 (B) Rßêß Á¸©õÚ® ©ØÖ® ÷Áø»U ÷Põm£õk 

ÁÍºa] SßÔ¯ ö£õ¸ÍõuõμzvØS GÆÁÍÄ 

yμ® ö£õ¸¢x®? 

  How far Keynesian theory of income and 

employment is applicable to LDCs? 
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19. (A) ©õºUêß EøÇ¨¦ ©v¨¦ ÷Põm£õmiøÚ 

ÂÍUSP. 

  Explain Marxian labour theory of value. 

Or 

 (B) ©õºUê¯ ÷Põm£õmiß SøÓ£õkPÒ ¯õøÁ? 

  What are the defects of Marxian Theory? 

20. (A) £nU öPõÒøP°ß ÷|õUP[PøÍ ÂÍUSP. 

  Explain the objectives of Monetary Policy. 

Or 

 (B) {vUöPõÒøP°ß Áøμ¯øÓPÒ ¯õøÁ? 

  What are the limitations of Fiscal Policy? 

——————— 

 


